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5 X 4 B | Timh o DR jjo)jtajé R 4 TIwmALDKE [ F& meajé R 4 B | LmAhoDE jjo)jtajé K 4 HiEhooks | & jmjtéfé
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 4.73 5890 | =nst | 0.00 ~ 4.73| 1.80 912 st 1.00 | 6.00 ~ 5.00 58.90 | =nst | 5.00 ~ 6.00| 1.80 912
2 100kN/m%E#BZ5 | 1.00| 000 ~ 036 10527 |3mEBZD -~ - - -] 100kN/ %8825 | 1.00 | 1067 ~ 11.70| 10527 |3m%E#BZ% -~
s 1.00 | 036 ~ 814 100.00 | =nst | 000 ~ 814 | 2.11 10.65 st 1.00 | 6.00 ~ 1067 100.00 | =nhst | 6.00 ~ 1170 2.11 10.65
3 100kN/mM#E#BZ5 | 1.00 | 000 ~ 249 139.03 |3m%E#BZ 5 -~ - - -] 100kN/mZ#8z% | 1.00 | 10.56 ~ 21.00| 139.03 |3mZ#Bz5 -~
s 1.00 | 249 ~ 1028 100.00 | =nst | ooo ~ 1028|276 13.94 st 1.00 | 6.00 ~ 1056 100.00 | =nLst | 6.00 ~ 2100 2.76 13.94
4 100kN/m%E#8z5 | 1.00 | 000 ~ 246 13847 |3mEiBz% -~ - - -] 100kN/ %825 | 1.00 | 10565 ~ 2080 | 13847 |3m%E#Bz% -~
s 1.00 | 246 ~ 1024 100.00 | =4t | 0oo ~ 1024| 275 13.89 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 2080 2.75 13.89
5 100kN/m##8x5 | 1.00 | 0.00 ~ 201 131.12 |3m%E#BZ 5 -~ - - -] 100kN/ %8825 | 1.00 | 10566 ~ 1850 131.12 |3m%E#BZ% -~
s 1.00 | 201 ~ 9.80 100.00 | st | 0oo ~ 980 | 233 11.78 st 1.00 | 6.00 ~ 1056 100.00 | =nst | 6.00 ~ 1850| 2.33 11.78
P 100kN/m%EBZ5 | 1.00| 000 ~ 292 14625 |3mEBZD -~ - - -] 100kN/ %825 | 1.00 | 10568 ~ 27.09| 146.25 |3m%E#BzZ% -~
s 100|292 ~ 1w 100.00 | =nst | ooo ~ 100|298 15.07 st 1.00 | 6.00 ~ 1058 100.00 | =hst | 6.00 ~ 2709| 2.98 15.07
- 100kN/m%EBZ5| 1.00| 000 ~ 283 144.76 |3mEBZS -~ - - -] 100kN/ %825 | 1.00 | 10.70 ~ 27.90| 144.76 |3m%E#BZ% -~
s 1.00 | 283 ~ 1061 100.00 | =nhst | 000 ~ 1061 293 14.81 st 1.00 | 6.00 ~ 1070 100.00 | =hst | 6.00 ~ 2790 2.93 14.81
P 100kN/m%E#8z5 | 1.00 | 000 ~ 323| 151.75 |3m&E#Bz5| 000 ~ 0.08| 3.04 15.37 | 100kN/mi£#825 | 1.00 | 1068 ~ 3793| 151.75 |3m&ERBZB| 30.00 ~ 37.93| 3.04 15.37
s 1.00 | 323 ~ 1102 100.00 | #nst | 0.08 ~ 1102 3.00 16.16 st 1.00 | 6.00 ~ 1068 100.00 | =hst | 6.00 ~ 3000 3.00 15.16
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ zhLst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ zhLst ~ FhLst ~ st ~
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